e S =
TRENERE
THE4
THE4 A6 AEEETE 5 4 B AR H X A Gl e R T
THH4 SRR EE ATHEAIT AR ~ AT RS /N, SRR ERE AN
SN
2. THEHNE
1)  HE4 PNTEESEET SPRE 3
2) F I f& AE T
3) T #] 186 H ¥ H A0 64 8H2TH
ES) S0 THE 2H28H
4)  TEHEAgEE

Ebacimd T E T R



(RS AR IR ZE 5 A BT AR ~ B S ETHN A HIN . BRI ZE]

Vv =
FER N E
T4 | S 6EEEE 5 4 5 A KA el skt T 5
TEHEXSy - TiE - FE5 Bz = & H il Ell M 7
JH S TRE = 1 35, 744, 154
BT =¥ 1 325, 584
P AR T = 1 325, 584
Afi%E T = 1 33, 646, 098
T X T X 1 9,812,358 | &R 370 m
TA77WMERZERR BH2E)E t<15cm ;
Al IR A A (e 1) 900 m2
TA77WMERZERR Eh2EIUE t=<15cm ;
pOE 135 m3
TATT VbR
Gy 135 m3
TATT VbR
T8 F 900 m2
HAEITyve5y RC-40 f+ YD E 200mm ;
E R 900 m2
FAEASZEEALEE (30) L FEVY/E 50mm ;
g 900 m2
FAMLRIEAs (20) &fiZE/E 50mm ;
e 900 m2
FRIEEAs (20) AHEEE 50mm ;
BIYA—n" = T 2V 1 23,833, 740 | BIHIA-N" 1A 4, 200 m2
(8)
TemZAB 2 12emPh F —J8 FAEHDRIET AV (20)
BRIEET A (20) ;
s (B B0 HID 420 m3
DIHE ;
By 420 m3
YIHE ;
X 1 = 1 212, 672

-1- Ebacimd T E T R



(RS AR IR ZE 5 A BT AR ~ B S ETHN A HIN . BRI ZE]

s SoAs =
TRENERE
TEHEL | A6 FEEENE 5 4 B A HIK Al skt %
TEHEXSy « TFE - F% BN o B 4 KA g bl N 7
P AR T = 1 212,672 | VARICX R 320 m
WEh=FE) £ ¥ 15cm E1. 5Smm HEACHEERLE
i
A A PRI R 640 m
N AVER WA R B 15em NEL
B AT MR T =Y 1 22, 000
ERAT RS T =Y 1 22,000 | fifi TAE REE 2 1"
e an =Y 1 1, 537, 800
A EE T = 1 1, 537, 800
BT EE = 1 35, 744, 154
B = 1 7, 086, 400
SRR = 1 1, 183, 400
TEHE 2V 1 194, 600 | B R AAARE M H 1 E2
HoflrE sty = 1 579,800 |CBREERZY 1 =
BB RR FEAT I ERR R 1 F2
BB T SE Rk S ERR R 1 2
BIGRRUGEE (F5H L) = 1 409, 000
G E (FEEF L) = 1 5, 903, 000
WM = 1 42, 830, 554
Bl B M 2V 1 15, 606, 000
T =5 = 1 82, 261, 869

-2 - Ebacimd T E T R



[EARRER TS T AR ~EE S A, BIRRE]
FHAE IR E
T4 | 56 EEEE S 4 5 AR A GEERE T
THEXSy - L - flj B & & # 7l 2] E
— R P E2V 1 13, 558, 131
Tk =X 1 95, 820, 000

Ebacimd T E T R



(AR U2 B TINS5 T RN SE PN

Vv =
FER N E
T4 | S 6EEEE 5 4 5 A KA el skt T 5
TEHEXSy - TiE - FE5 Bz = & H il Ell M 7
JH S TRE = 1 13,182,015
BT =¥ 1 108, 528
P AR T = 1 108, 528
Afi%E T = 1 11, 380, 767
T X T X 1 3, 174, 867 | &fi%E R Ut 130 m
TA77WMERZERR BH2E)E t<15cm ;
Al IR A A (e 1) 300 m2
TAT7 M MEREERR SEERRUE t=15cm ;
pOE 45 m3
TATT VbR
Gy 45 m3
TATT VbR
T8 F 300 m2
HAEITyve5y RC-40 f+ YD E 200mm ;
E R 300 m2
FAEASZEEALEE (30) L FEVY/E 50mm ;
g 300 m2
HAHRIEAs (20) #H%EE 50mm ;
e 300 m2
FRIEAs (20) &2 50mm
BIYA—n" = T 2V 1 8,205,900 | GIEIF—n" -1 A 1, 500 m2
(8)
TemZ Bz 12ecmPA T T J8 FAMURIEET 22 (20)
BRIEET A (20) ;
s (B B0 HID 150 m3
DIHE ;
By 150 m3
YIHE ;
X 1 = 1 132,920

-4 - Ebacimd T E T R




FH

Ay

=+
=

T
P=s

(AR U2 B TINS5 T RN SE PN

TEH4 | M6 FEEEE 5 4 5 AR MK AMHEERE T3

TEHEXSy « TFE - F% BN 4 G| il N 7
P AR T = 132, 920 | ¥ mh = X i HR 200 m
AT F258 %5 15em 1. bmm HEAMESHSE:
i
A A PRI R 400 m
N AVER WA R B 15em NEL
BB T = 22, 000
ERAT RS T = 22,000 | Jifi THE REE 2 1"
e an =Y 1, 537, 800
A EE T = 1, 537, 800
(RN %y =¥ 13, 182,015
B =¥ 3, 353, 300
SRR = 593, 300
TEHE = 162, 600 | LA E R 1 E2
HoflrE sty = 240,700 |CBRZERZ 1 =
BB T SE Rk S ERR R 1 2
BIGRRUGEE (F5H L) = 190, 000
G E (FEEF L) = 2, 760, 000
WM = 16, 535, 315
Bl B M = 7, 290, 000
T =5 = 23, 825, 315
-5 - [ELAREE  PE TR R




